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Trigonometry Formula Sheet

sin & = cos (90° - 9) csc 6 = sec(90°-6) tan@ = cot (90" - 6') cos @ = sin(90°-8)
1 2 a8
secd = csc (90° - 8) cot & = tan(90°-6) $=r@ A= S Z @ =
¢
v=ro s(f) =acoswt s{(t) = asinwt cos(A + B) =cos Acos B —sin Asin B
cos(4 ~ B) = cos Acos B +sin Asin B sin(4 + B) = sin Acos B+ cos Asin B
. . . tan 4 +tan B tan A —tan B
sin(4 — B) = sin Acos B~ cos 4sin B tan(4 + B) = -~ = tan(4 - B) = ————-
1~ tan Atan B 1+ tan Atan B
cos ZA = COSZA — Sil’le cos2A =1- 23in2A cos2A = 2COSZA -1 sin2A = 2 sin Acos A
tan 24 = 2@0A 1 o 1
- tanZA cosAcosB = 5[cos(A+B) + cos(A—B)] sinAsinB = E[o:os(A—B) - cos(A+B)]

. 1 1 . . . [A+B A-B
sinAcosB = E[Sin(A+B) + sin(A-B)] cosAsinB = E[Sin(A+B) ~ sin(A-B)] sinA+sinB=2sin T

sin A —-sin B=2cos[A;B)sin{A;B] cosA+cosB=2cos(A;B}cos(A_B] cosA—cosB——Zs'm[A;BJsin(A_B]

2 2
— — A in A
cos A _ + ‘1+cosA siné - ’1 cos A tané - fl cos A tan =S
2 2 2 2 2 1+ cosA 2 l+cosA
A 1-cosA 1 . 1 .
tan-— = ———— _a = _b = _C Area=—bcsin 4 Area =—absinC
2 sin A smA sinB smnC 2 2
.
AreazgacsmB a® =b* +c? —2bccos A b* =a® +c* —2accos B ¢t =a’ +b* —2abcosC
1 . - .
Area = \s(s — a)(s — b)(5 —c) , where § = E(G +b+c) | =va* + b’ a =i|cos8 b =lu|sind
- e el u-v .
u-v=ac+bd u-v=[u||v|cosa9 cos6’=m X = rcosf y=rsind F=axt+y?
1\
tang = 2 x+ yi = r(cos @ +isin8) = reisf (rcisé, Xr,cis6,) = nrycis(f, +6,)
x
reisé, o . ol (s
AL Teis(e, - 6,) [reiso]” = 1" (cis n6)
r,cis, r,
N g +360°-k
rcisa , where @ = ———————— fork=0,1,2,...,n-1
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